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INTRODUCTION 

A 1najor addition to the new 1B business 1nanage1nent syllabus is the business 1na11age1nent toolkit. T his is a set of 
situational, planning and decision-making tools which are all explained in Business Management for the 1B Diplon1a 
(the student book). The idea is that you ca11 use these tools tl1roughout the course to analyse and evaluate the 
1B business 1nanage1nent syllabus conte11t. The tools provide a valuable set of n1odels and fra1ne\.vorks to analyse 
different topics and contexts in tl1e course. The tools can also help 1nanagers to analyse and 1nake 1nore informed 
business decisions. 

This book, Business Management Toolkit Workbook for the 1B Diploma, is intended to be used alongside the student 
book to consolidate your understanding of the tools. Each chapter consists of a set of exa1n-style questions to test 
your understanding, ensuring full coverage of the entire business 1nanagement toolkit. 

While tl1e tools have been classified as situational, planning and decision-111aking tools in the syllabus, it is 
in1portant to note that these tools 1nay have overlapping applications and, therefore, in some cases one tool could 
apply in 1nore tha11 one classification. 

There are tools for both standard level (SL) and higher level (HL), as well as HL-only tools. By the ti1ne you 
co1nplete the exercises i11 tl1is workbook, you should be able to apply, analyse and evaluate tl1e follo,ving tools in 
the business 111a11age1nent toolkit. 

Ans\\1ers to all questions are available on 1B Extras: www.hoddereducation.co.uklib-extras. 

PHOTOCOPYING PROHIBITED 



Introduction 3 

Tools I Relevant to I Classification 

1 SWOT analysis Unit 1: Int roduction to business management Situational tool 
Unit 2: Human resource management 
Unit 3: Finance and accounts 
Unit 4: Market ing 
Unit 5: Operations management 

2 Ansoff matrix Unit 1: Int roduction to business management Decision-making tool 
Unit 4: Marketing 

3 STEEPLE analysis Unit 1: Int roduction to business management Situational tool 
Unit 2: Human resource management 
Unit 4: Market ing 

4 Boston Consult ing Group (BCG) matrix Unit 3: Finance and accounts Situational tool 
Unit 4: Marketing Decision-making tool 

5 Business plan Unit 1: Int roduction to business management Planning t ool 
Unit 2: Human resource management 
Unit 3: Finance and accounts 
Unit 4: Market ing 
Unit 5: Operat ions management 

6 Decision t rees Unit 1: Introduction to business management Decision-making tool 
Unit 5: Operat ions management 

7 Descript ive stat ist ics Unit 2: Human resource management Decision-making t ool 
Unit 3: Finance and accounts 
Unit 4: Market ing 
Unit 5: Operat ions management 

8 Circular business models Unit 1: Int roduction to business management Decision-making tool 
Unit 5: Operat ions management 

9 Gantt charts (HL only) Unit 4: Market ing Planning t ool 
Unit 5: Operat ions management 

10 Porter's generic stra tegies (HL only) Unit 1: Int roduction to business management Decision-making tool 
Unit 4: Marketing 

11 Hofstede's cultural dimensions (HL only) Unit 2: Human resource management Situational tool 
Unit 4: Market ing 
Unit 5: Operat ions management 

12 Force field analysis (HL only) Unit 2: Human resource management Situational tool 
Unit 5: Operat ions management Decision-making tool 

13 Crit ical path analysis (HL only) Unit 4: Market ing Planning t ool 
Unit 5: Operat ions management 

14 Contribu tion (HL only) Unit 3: Finance and accounts Decision-making tool 
Unit 4: Market ing 
Unit 5: Operat ions management 

15 Simple linear regression (HL only) Unit 1: Int roduction to business management Decision-making t ool 
Unit 4: Marketing 
Unit 5: Operat ions management 
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1 

2 

a 

b 

SWOT analysis 

Define the tenn SWOT analysis. 

Explain how SWOT analysis is used as a strategic planning tool by 1nanagers and decision 1nakers 
in an organization. 

Outli11e two characteristics for each of the co1npone11ts of a SWOT analysis: 

a Strengths 

(2 marks] 

(6 marks) 

(4 marks) 

.... .................. ·····~····" .................... .................... ·················"' ······················ ................................ .............. ............................... .......... ·············~······ ........ ·····~······ .................... ... . 

b Weaknesses (4 marks) 
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1 SWOT analysis 5 

C Opportu11ities [4 marks) 

. -~ .................. -~ ...... .................. ............... ,. ......... ,. ........ -~ ............. .... ................ ..................................... ................. -~ .. .......... ...... -~ ............ ...... -~ ...... ............ -~ .................................. . 

d Threats [4 marks) 

························ ·· ······•··········· ·· ······ .. ·········· ·· ········"·········· ········"········ ·· ········"········ ·· ·········· ........ .. ....... , .......... .. .................. .. ............................. .................. .. .......... , ......... ........... . 

.. " .. '" .. ' .' ' .' ..... "" ..... ' .' .. ' ..... "" ... ,. ' .' .. ' ........................ ' .... ' .' ............ ' ...... ' ............ ' . " ....... ' .... ' ..... "" ... " , .. " ...... "" ... " ' .. " .. ' .. '"" ... " ....... ' .' ... "'.'"" ' .. '.'.' ... " ... "" ..... ' .' ... " ... "" ..... ' .... .. 

3 a Explain two benefits of SWOT analysis. [4 marks] 

b Explain two lin1itations of SWOT analysis. [4 marks) 

......... ....... , .......... , ........ , .......... ......... , ....... .. .................. ... ......... ........... ................... .................... ....... , ............ ....... , .... ........ ............ ... .... , .......... , ................... .................... .......... . 
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With reference to ai.1 organization tl1at you l1ave studied, outline two strengths, weaknesses, opportunities 
and threats. 

a Strengths (2 marks] 

b Weak11esses (2 marks] 

....... " ... " .......... , ... , .. ' .. , ... ,." .. " ..... '" .. , ....... " ..... ............. " ........ " ........ " .................. " .............. , .. '"" ' " ..... " ..... '" .. " ...... " ........ " ............. " .................. " .......... " ..... '" .. , .. " ... " .......... .. 

C Opportunities (2 marks] 

.............. .. , ......... .......... , ......... ........... ......... .......... ., ......... ......... ........... ....... .. .................. .. ................. , ................... , .. , ................ , ..................... ... ....... , ......... .......... , ......... .......... . . 

d Threats (2 marks] 
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1 SWOT analysis 1 

5 GlaxoSmithKline (GSK) is one of the world's largest phar1naceutical co1npanies. Its product range includes 
phannaceuticals, co11sumer l1ealthcare products, vaccines a11d sports supple1nent products. The con1pa11y is in 
a strong fi11ancial position with higl1 liquidity. Hov,1ever, cha11ges to pate11t lav,s i11 nu1nerous countries have 
ren1oved s01ne protection for GSK's best-selling products. 

a Explain why high liquidity \'JOuld be a strength for GSK. [2 marks) 

b Explain ,vhy changes to patent la,vs could be a threat to GSK. [2 marks) 

...................... .............. , ..... .......... .. ... .............................................................................................. ............... ..... .. , ........ ..... ..... ..... .. ... .... , ..... ....... .............. .............................. ..... . 
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Ansoff matrix 
1 a Define the tenn Ansoff matrix. 

b Con1plete the rnissing labels in tl1e table belo\v using tl1e foul" growth strategies from 
the A11soff matrix. 

"' ... 
V 
:, 

i::, 

E 
a. 

$ 
a, I z 

M arkets 

New Existing 

II 

IV 

(2 marks] 

(4 marks) 

2 In 2021, PayPal announced it ,vas interested in acquiring Pinterest for US$45bn. PayPal is a financial 
technologies company based in San Jose, California. Pinterest, based in San Francisco, Cal ifornia, has rnore 
than 480 million active users on its social media platfonn, pri,narily offering users a ,vay to store and share 
their favourite images. Pay Pal had benefited from the boom in e-corn,nerce since the start of the COVID-19 
pande,nic. Pay Pal's takeover of Pinterest ,viii enable it to co1npete directly wit!, Meta's Instagrarn, which is also 
used as a platform for pro,noting online retail. 
a Define the ter1n takeover. (2 marks) 
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2 Ansoff matrix 9 

b Witl1 reference co me Ansoff n1atrix, explain v.rhy Pay Pal's gro\vth strategy may be described as 
high risk. (4 marks] 

3 In 2011, McDonald's introduced its Mc Wedding service co some of its restaurants. The service includes hosting 
\.Veddings, engagements, anniversaries and bridal sho\.vers at designated McDonald's restaurants. The wedding 
party packages include rneals fro1n McDonald's menu, unique venue decorations, custo1nized wedding party 
ga1nes and special gifts for the newly-weds as well as guests. 

Explai11 \vhy it 1night be difficult to classify this growm strategy using the Ansoff matrix. (4 marks] 

......... ' .. " '.' .............. ' ............ " .................. " ..... -~· .......... " ........ " ........ " .................. " .................. "" ..... ' .. " ..... '" ......... , " ........ " ............. " .................. "'.' ....... " ..... ' .... ' ....... " .......... " 

.. " .. '" .. ' .' ' .'" ... "" ' .... ' .' .. '" ... "" ..... ' .' .. ' .... '"" ' .............. ' .. " ' .' ............ ' .. " .. ' .............. "" ..... ' .. ' ' ..... "" ... " ' .. " ...... "" ..... ' .. " .. ' .. '"" ... " ....... ' .' ... " ... "" ' .. '.' .' .. '" ... "" ..... ' .' .. '" ... "" ... .. ' .... .. 

4 In 2020, Pret A Mai.1ger, me coffee and sand\vich retail cl1ain, launched a subscription service i11 the UK. The 
service, as part of Pret A Manger's atte1npt to gain further market sha1·e in a saturated 1narket, offers subscribers 
up to five coffees or other drinks each day for a UK£20 (US$28) monthly fee. Customers who sign up get the 
first 1nonch free as an introductory offer. 

a Define the term 1narket share. (2 marks] 

b With reference to the A11soff n1atrix, explain \Vhich gro\vth strategy ,vas used by Pret A Manger. [4 marks] 

.............. ··········" ........ ··········" ..................................................... ····· ...................... ······•· ............ ~ ............................................................................ ··········" ........ ········" ............. . 
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10 Business Management Toolkit Workbook for the /8 Diploma 

c Explain one reaso11 why it might be difficult to penetrate a saturated market. (2 marks) 

d Explain two benefits to Pree A Manger of using a subscription service as part of its gro\vth strategy. (4 marks] 

5 Nike's mission scatement is to "bring inspiration and innovatio11 to every athlete it1 the world". This is supported 
by Nike's growtl1 strategy of tnarket developn1e11t in different regions across the globe. This has included the 
use of nev; distribution channels, namely 1noving from selling via retail outlets to selling using e-commerce a11d 
1nail order. 

a Defme the ter1n 1nissiori statement. (2 marks] 

.. " ... , .............. " ... , ........... ... " ... , ........ ' .. ..... ... ' ............................................................. ............. ' ...... .... ' ........ ' ... " .............. ' ... " ... " ............. " ... " ... , .............. " ... , ...... ..... ..... ... ' ......... . 

.... ..... ... .. ,., ......... . ,. ····· .. , ......... ..................... .................... ......... ........... ....... . , ......... , ........ . , ......... , ....... , ........... , ....... , .... .... , .. , ....... , .... ....... , ...... , ., . , ..... , .. , ...... , ., .......... , ...... , ., ........... . 

b In the context of Nike, outline the 1neaning of a market development gro\vth strategy. (2 marks) 

........ , .... , ......... , .... , ................. . ~ .............. ~ ... .... , ....... , ... ~ ... ..... ... ... ......... ............ , ............. ......... ....... .................... .................... .......... ... ,. ..... , . , ................................................... , .. .. 

c Explain one advantage and one disadvantage of Nike's 1narket develop1nent gro\.vth strategy. (4 marks) 

••••••• .. ••••••••••••••• ....... ••••••••••••• .. • .. ••••• .. •••••• .............. •••••• .... •••••••• .. •••••••• .... •••••• .. ••• .......... .. o• .. ••••• .. • .. ~•••••••••• .. •• .. • .. •••••••••• .. •••••• .. ••••••••• .... •••••••••••••• ................ ................ ,., . ....... .,,-, ..... . 
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2 Ansoff matrix 11 

6 With reference to the Ansoff matrix, ide11tify tl1e correct gro,vth strategy in each of the cases belo,v. 

a The highest risk grov.1th strategy. 

b A penetration pricing strategy. 

c A loss leader pricing strategy to encourage brand s,vitching. 

d Focusing on new ideas and product extension strategies. 

e Focusing on increasing 1narket share. 

(1 mark] 

(1 mark] 

(1 mark] 

(1 mark] 

(1 mark] 

............ " ..... ........ ' ... -~· ............. ' ........... ........ ' ................................................... ....... " .................................................................... " .................. ' ................... ' ................... ' ......... . 

7 Explain one advantage and one disadvantage of tl1e Ansoff n1atrix as a decisio11-1naking tool. (4 marks] 

....... ..... .. .. , ....... " ....... ' .. , ....... " ..... '.' .. ' ....... " ..... ,., .. , ....... "'' ............. "'" ,. ' .... , .......... " ....... , .......... " ....... ' .. " ...... " ....... , .. " .. , ... " ........... ,. .......................... , ........................................ ' 
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1 a 

b 

STEEPLE analysis 
Define the tenn STEEPLE anal)•sis. 

Explain why STEEPLE analysis is used as a strategic plannil1g tool by 1nanagers and decision 
makers in an organization. 

(2 marks] 

(4 marks) 

• • ••••• , •••• • • •••••• • ••• •• • , •••••• • • •••• • ••• •• • ' •• • t •• • • •••• • ••• •• • ' •••••••• ., .... . . .... . ..... .. ..... . ...... . .... . . , ....... . ..... ...... . ...... ' • ••••• • •••• • • ••••• • ' • ••••• • • • •• • • •••••• • • ••••• • •••• • • • •• •• • • • •• ••• • ••• •• • , • ••••• • • •• • • • ••• •• • , •••••• • • •••• • ••• •• • ' . ..... . . . . 

.... ..... ... .. .. , ......... ........ ,., ......... ........ ,., .......... ......... ., ......... ......... ........... ....... .. ... ................. ................. , ................... , .... .... , ............... ....... , .......... , ...... .. , ......... ........ .. , ......... ........... . 

2 Outline two exa1nples for each of the components of a STEEPLE analysis. It 1nay be useful to contextualize 
your response \Vith reference to an organization of your choice. 
a Social factors (4 marks) 

···~··· .. ···•·············· ... · ... ·········~ .......................................................................................................................... ~ ................................................................................................... . 

b Technological factors (4 marks) 

................ , •••••••• , .......... ' ........ , .. . ....... ' •• • ••••• , .... . ......... ..... , .... . ........ . ..... , .... . ........ . ... . . , .... . ......... , .... , ....... t ........... , ....... , ... , ....... , ................... , ........ , ...... , ... , ........ , .......... ' ........ , •• • , ....... . 
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3 STEEPLE analysis 13 

C Econoinic factors [4 marks) 

d Environmental factors [4 marks) 

e Political factors [4 marks) 

···~··· .. ···•·············· ... · ............ ~ ....................... .................... ..... ........ ......... .................... ....... .............................. ~ ...................................................................................... ............. . 

f Legal factors [4 marks] 

. . .. . ..... . . .. . . , ..... ....... ...... . ' ..... ...... .... . .. . ' .. . .. . .... . .. . . . . " . ... .. . .... .. . . . . .... . . . .. . .... . .. . . . . " . . . . .. . ... .... . ... " • • • • t ..... ..... .. t . .. . ........ ..... .. , • •• , ... ..... ..... .. , • • ••••• •• • • , ..... .... ...... , •• • , ..... . ... ... ' . .... . ' ..... .. ... . . , .. . ... .. 

g Ethical factors [4 marks] 

PHOTOCOPYING PROHIBITED 



14 Business Management Toolkit Workbook for the /8 Diploma 

3 a Explain two benefits of using STEEPLE analysis. [4 marks] 

.. " ...... " .. ........ "" ..... ' .......... "" ..... ' ....... ..... " .............. " .. " ' " ............... "" ................ "" ..... ' .. .. ' ..... "" ................ "" ........... " ... "" ... " ...... " .......... " ..... '" .......... "" ..... ' .......... "" .......... .. 

b Explain two li1nitatio11s of STEEPLE analysis. [4 marks] 

4 Explain the difference bet,veen a SWOT analysis and a STEEPLE analysis. [4 marks] 

5 For each scenario below, explain one opportunity and one threat to businesses. 

a In Japan, tl1ere is an aging population (an i11crease in tl1e average age of tl1e populatio11). [4 marks] 

Opportunity: 
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3 STEEPLE analysis 15 

b 

Threat: 

The COVID-19 pande1nic caused national lockdo\vns across the world, leading to businesses 
and consu1ners having to rely on e-co1n1nerce. 

Opportunity: 

(4 marks] 

, ...... ' .. " .......... ,., ..... " ..... ............. " ........ " ........ " .. ' ............... " .............. , .. '" .. ' .' .. ,. , "' .... ,., " ............................ "' .. " .......... ,., .... ' ......... ' .. " ' .... '" .. ' .... ' .. " .......... ,., .. ' .. " ........ " ..... ' .. " .. ' .. . 

' .'" ... "" ... .. ' .' .. ' .... '"" ' .... ' .' " .. ' ..... " .. ' .. ' .' .... ' .. ' ' '" .. ' ......... ' .... '"" ..... ' .. ' ' ..... "" ... " ' .... ' .... '"" ........ " .. ' .. ' .. " ... " ... " .. ' .' ,., " ... "" ' .... ' .' .. '" ... "" ..... ' .' .. ' ..... "" ' .... ' .' ........ "" ' .' .. ' .' .... ' .. ' .. " .. ' .. . 

Tl1reat: 

.. , ......... .......... .... ....... ......... ........... ......... .................. .. .................. ................... , ................... , .... ........................... , ......... ........... ......... ........... .......... ......... . ,. ........ ......... ........... .... . 

C The UK Govern1nent has announced that it will ban the sale of new diesel- and petrol-fuelled 
cars by the year 2030. 

Opportunity: 

(4 marks] 

.......... " ........ " ........ " ........ " ........ " ... ..... " ........ " ........ " ........ " .......... ' ...... " ................................................................... " ...... ·• ........ .......... ·• .......... " .................. " .................. " ..... . 

Tl1reat: 

,. t ....... .. .. . ...... . . .. . .... .. . . .. . . . ...... . .... .. .... . ........ . .... .. .... . ... ..... . .... .. .... . ... . ....... .. .. ....... ' ...... , . . . .. ..... .. , ........... . ..... .. . .... ... .. .. , ..... .... . , . . .... .. ' ....... .. . ' ......... .. . .... .. .. . . . ......... .... .. .... . ........ . .... .. .... . . 
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16 Business Management Toolkit Workbook for the /8 Diploma 

6 Multinational companies are affected by fluctuations in the exchange race. 

a Define the term exchange rate. [2 marks] 

........................ ...................................... ~··········· .. ······~··········· .. ······~··········· ................................... ..... ............... ..... ......... ...... ............................. ............... ................................. . 

b Suppose the exchange rate bet,veen the US dollar (USO) a11d the Euro (EUR) is US$1 = €0.92. Calculate 
the price for custon1ers in Europe who purchase textbooks priced at US$70 from a publisher based in 
America. [2 marks] 

c Suppose tl1e exchange rate between the pound sterling ( GBP) a11d the I-long Kong dollar (HKD) is 
£1 = HK$10.5. Calculate ho,v much it costs a Britisl1 tourist (in pound sterling) to buy an iPad at an Apple 
Store in Hong Kong chat is priced at HK$7,000. [2 marks] 

• • ••••• , •••••• • •• ••• • ••• ••• , •••••• • • •••• • ••• ••• ' •• • t •• • • ••••••••••• ••••••••• ., .... ...... . ..... .. ..... . ...... . ... . .. , .. , •• '. ' •• • , • •••••• , •••••• ' ••• • , • • • • , • ., ••••• • ' ••• • , • • • • , • • • ••••• • •••• • , • • •• , • • ' ., • •• • • • •• • , • • •• , ••• , •••••• • • •• , • • •• , ••• , •••••• • • •• , • • •• , ••• ' . ..... . . . . 

... , ..... ..... .. , ...... , ., .......... , ...... , ., .......... , ....... . , ......... , .,. ..... . , ......... , ......... , ........ . , ......... , ........ . , ......... , ...... , , ........... , ....... , .... .... , .. , ...... , ..... ....... , ...... , ., . , ...... .. , ...... , ., .......... , ...... , ., ......... , .. 

d Explain ho,v a sustained currency appreciation is likely to impact a tnultinational company such as Nike 
(headquartered in the USA) or Adidas (headquartered in Gennany). [4 marks] 
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Boston Consulting Group 
(BCG) matrix 

1 The figt1re belo~, sho,vs tl1e Boston Consulting Group (BCG) 1natrix. 

~ 

Ol 
C -~ 
0 
~ 

Ol 
~ 

.c 
Ol ·-I 

~ 
Q} 
~ 
::) -<1) 

E 
~ 

$ 
0 _, 

I 

111 

Market share 
High 

II 

IV 

a Define the terrn BCG mat11x. 

b Cotnplete the tnissing labels in the BCG matrix above. 

Low 

2 The BCG 1natrix is used to categorize the products of a firtn into four categories. Define each of 
these categories. 

a Casl1 co\vs 

PHOTOCOPYING PROHIBITED 

(2 marks] 

(4 marks] 

(2 marks] 
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b Dogs 

C Stars 

d Question marks 

State two cl1aracteristics for eacl1 of tl1e product categories in the BCG matrix. 
a Question marks 

(2 marks) 

(2 marks] 

(2 marks] 

[2 marks) 

.............. ................................ . ~ ............ .. ~ .... ............. .. ~ ....................... .......................... ................ .................... ................ ..... ............... ..... .......... ................ .................... ........... . 

b Stars [2 marks] 

• • ••••• .. • •••••••••••• ••••• .. ••••••••••••••~ .. • .. ••• •••• •••••• .... . ......... •••••• .... • •• •• • •• .. •• ••••• • .... ••••• • .. •• • .. •• • .... ••• o •., .. ••• .. • .. •••••••••• .. • .... • .. ~•••• ••••• .. • ••••• •• .. ••• •••• .... •••••••••••• •• .. • .. • •••• •••••••• ••••• .. •• .. ••••••••• .... • .... •• •.,•• 

C Cash co,vs (2 marks) 

. . ........ ' .••.. , ..... ....... ' .••..• ' ..... .......... . ... ' ... .................... ...... ' .... ' ....... . ........... .................... o , ................. .. ' . . .......... ..... .. , ................... , ........... , ..... ............ .. , ..... ....... ' .••..• ' ..... .......... . ... .. 
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d Dogs (2 marks) 

4 Refer to the data belo"v for a finn's product portfolio, including expected sales revenue for next year, then 
ans\ver the questions that follo\v. 

Market share(%) Market size (sales in USSm) 

Product Firm Largest rival Last year This year Next year 

A 5.0 20.0 3 5 7 

B 1.5 22.0 4 3 2 

C 2.0 18.0 15 25 35 

D 30.0 15.0 15 20 25 

E 24.5 6.5 8 7 7 

F 2.0 15.0 13 9 7 

a Identify the firm's question marks. (2 marks) 

b Identify the firm's star. (1 mark) 

......... ..... .. , .......... , ........ , .......... ......... , ......... .......... ........... ......... ........... ......... ... ............... , , ................. ,., ................. , .... .................... .................. , .... ,, .. , .......... .. ....... , .......... .......... . 

c Identify the firm's casl1 cow. (1 mark) 

d Identify the firm's dogs. (2 marks) 

.... .......... ·············~······ .................... .................... ·················"' ·················--··· ................................ ..... ........................................ ..... .................. ~···· .. ............. ~······ ..... ............... ... . 

......... ..... .......... ... ..... ............ ... ....... ...... .... ... ......... .... .... ... ......... ........... ......... .......... .......... .......... ........ ..... ....... ....... ........ ................. .......................... ......... ... ................. ... ......... .. 

5 a Explain the use of the BCG matrix as a business manage1nent tool for 1nanagers and decision 
makers in an organization. [4 marks] 

.............. .......... ... ....... ... ....... ... ....... ...... .... ... ......... .... .... ... ......... ........... ................... .......... .......... ........ .. .......... ....... ...... ........................ ............... ........ ....... ... ....... .......... ... ....... .... 

......... ..... ... .......... .. ..... ........ .. .. ........ ........ ~··········· ........ ~········· .. ...................... ................................. .... ........... ......... ........... ......... ........... ............... .... ............... ............. .. ............ .. 

.. .. ..... ... .. ... .. ... .. ..... ... .. ... .. ... .. ..... ..... ... .. ... .. .......... ...................... .................... ........ .... ...... .. ............ ... .. ... ..... ....... ... .. ... .. ... ....... ... .. ... , ..... , ...... .... ..... ........... .... ..... ... .. ...... .... .......... .. .. 
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b Explain tl1e link bec~1een the produces in a firm's BCG matrix and tl1eir product life cycles. [4 marks) 

.. " .. ' " ' .' ' ' ,., "' .'"" ' .. .. ' .' .. '" ' .'"" ..... ' .' .. ' .. ,. '"" ' .... ' .' .. ... .. ' .. " ' .' .. ' .' .. .. ' .. ' .. " .. ' .. ' .' .. .. ' .. ' . "" ' .' ..... ' ' ..... "" .. ' .. ' .. ' ' .. .. '"" .. ' ....... ' ' ' .. '"" .. '" ..... ' .' ' ' ... " .. '"" ' .. ' .' .' ... " .. '"" ' .... ' .' .. ' " ' .'"" ... .. ' .' .. .. 
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Business plan 
1 a Define the tenn business pl.an. (2 marks] 

b State two key elen1ents of a busi11ess plan. (2 marks) 

............... .. ......... ........ ... ......... ............. ....... .............. ....... ......... ........... ....... .. ..................................... , ........................ ....................... ....................... .. ......... .......... , .......... .......... . 

C Explain two reasons why organizations use business plans. (4 marks) 

2 a Explain the relationship between a SWOT analysis a11d a business pla11. (4 marks) 

• • •••• • .. • •••• •••••• •• •• .. • .. •• .. ••••••• •• •• .. • .. •• .. ••• •••• •• .. ... .... . . ... •••• •• .... • •• ••• •• .. •• •• ••• • .. .. • •••• • .. •• • .. •• • .. •• • •• H •.,•• • •• .. • .. ~•••• ••••• .. ••• .. • .. ••• •• ••••• .. • ••••• .. ••• •• •••• .... •••••••••• •• •• .. • .. • ••• ••••••• •• •• .. • .. •• .. ••••••• •• •• .. •""•• • .. •• 

b Explain the relationship between a compa11y's budget and its business plan. (4 marks) 

...................... .................... ....... , .............. ... .... ... .......... ... .... ... ...... ...... .......... .......... .............. , ..... ..... ..... .......... ..... ............... ..... .................... .................... ....... ............. .. ... .. , ...... .. 

.. .. .. . .. . . . .. ........ .... . .. .. . .. ........ ....... .. . .. .. ... . . . .... . .. .. . .. .. . ... . . .... . . . . . ... .. ... . . . . . .. . . . . ... . .. .. . . . . . . .... . . .... .. .. . .. .. . .... . . . .. . .. .. . .. .. . .... . . . .. ....... ... . .... . . . ... . . .. . . . .. . .... . . . .... . ... . . .. ........ ....... .. . .. .. ... . . . ....... .. . .. .. .. 
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3 New businesses often face nun1erous problems \vhen setting up. 

a Explain two problems that new businesses are likely to face that 1night be identified in 
a business plan. (4 marks] 

.............. ......................... ....... . ~ ............ .. ~ .... .... ......... .. ~ .............. ......... ...... .................... ................ .................... ................ ..... .................... .......... ..... ........... .................... . ~ ......... . 

b Explain why it is importa11t for a new cotnpany to include financial inforrnatio11 in its 
business plan. (4 marks) 

......... ··· ·· .. , .......... ........ .. , ........................... .......... " ........... ....... " ... ····· .. ........ " ... ····· .. .................... ········ .......... .. ....... , .......... ............ .. ....... , ............ ··· ·· .. , .......... .......... .......... ......... .. 

.. .. .. . .. .. . .. . . . .. . . . .. .. . ' .............. ..... ' ........... ........ ' ............................ ·~· ... .............. ·~· ......... .................... ........ ·~· .. ....... ..... ... ..... ....... .................... ........ ' .... ............... ' ... -~· ............. ' ......... . 

4 For each stakeholder group listed belo,v, explai11 one reason ,.vl1y it \vould be i11terested in an 
orga11ization's business plan. 

a Entrepreneurs (2 marks] 

............... ............... ................ . ~ ................................ .. ~ .... ............................................. ................. ................................... ............... ..... ................... ................ .... ....................... . 

b Cotnmercial banks (2 marks) 

......... ..... .. , ......... .......... , .......... .......... .......... ......... ........... ......... ........... ......... .......... .......... ................. , ................... , .... .................... ........ ............ ..... .. , .......... ......... , .......... ......... ·~ 

. -~ ...... ............ ·~ ........... ........................... ·~ .... ..... ,. ... ..... ·~ .... ......... .... ...... .......... .......... ....................... .... ................. ·~ .. ......... ....... ·~ ........... ....... ·~ ........... ....... ·~ ................................. .. 

.. .. ... , ....... .... ..... ... , .... .. ............. , ........... ..... ... ............................. ................................. ....... ... .......... ....... .. ........... ....... .. .... ....... ..... .. , ............ .... ... , .... ....... ..... ... , .... ........ .... ... , ........ .. 

c Potential investors (2 marks) 

.... .. ' .. ' .' '' .. , .. ' .' .... ' " .. '''.'' .. ' .' ......... ' .' .. ' .. .. ' .... ' .... ' '' ..... '.' ...... ' .. ' '' .. " ' .. ' ...... ' .. '.' .. " ' .. ' ..... ' .' ..... ' ' ........... ' .. ' .. ' ' .... ' ...... ' .. ,., "'.' .. ' ...... ' ..... " ' .' '' ....... ' .... ' .. ' .' '' ....... ' .... ' " .. ' .' . ''" ' .' ......... ' .' .. .. 
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5 A business plan \vill typically include eletnents of the marketing mix and marketing plan. 

a Define the term marketing plan. 

5 Business plan 23 

(2 marks] 

.............. ................ ................ . ~ ............ .. ~ .... ............. .. ~ ... ........... ......... ...... .............. ...... ................ .......... .......... ..................... .............. ............... ...... ........... .................... . ~ ......... . 

b Define the ter1n marketing mix. (2 marks) 

.................... .................... .................... ......... . . . . . " . ... ........... . . ...... .... .... . ..... . " . . ..... ..... . . . o ," ....... ..... ... ..... ..... ..... ... .... , . . ..... ..... ... ................ , ... .................... .................... ......... ........ . 

c Explain two benefits of having a marketing plan included in a business plan. (4 marks) 

................ , ................... , ............... · • ................................ , ............ ····· ................................................. , ....... ..... ....... , ............ ....... , ........... , ................... , ................. .. , ................... .. 
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Decision trees 
1 A business is considering developing and launching a ne\\, product at an estin1ated cost of US$250,000. 

The 1nanager l1as decided to use a decision tree witl1 a 65% probability of the ne,v product being a 
co1n1nercial success. If so, tl1is should lead to an additional US$500,000 in sales revenue. The 
probability of failure is 35%, which \.vould lead to additio11al sales of only US$50,000. 

a Define the te11n decision tree. (2 marks] 

• • • •• • • , •• • • • , • •• • • • • • • • ••• ' •• • • •• • •• • • • • • • • ••• ' •• • t • • • • • •• • • • • • •• • ' • •• • • •• • ., . .. . . .... . . ....... ...... . .... . . .. . .. . . ...... . ... . . . . . .... . ...... ' ••• • • • • • • • •• • • • • •• • ' ••• • • • • • • • •• • •• • • • • t • •• • • • • • • •• • • • • • • •• , • •• • • • • • • • •• • , •• • • •• • •• • • • • • • • ••• ' •• • • • • • •• • • • • • • • ••• ' • ••• • •• • • • 

b Calculate the expected value of the ne,v product for the business. [2 marks] 

c Explain one advantage of using decision trees as a decisio11-maki11g tool for the business. [2 marks] 

.............. ............... ... ·• .......... " ...... ·• .......... " .......... ........ " .................. " .................. " .......... ........ " .......... ' ................................................................................... ·• ....................... . 
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2 Ed Jae11 runs a car repairs and restoration business in Pana1na City. He is deciding ,vhether to open a 11ew 
outlet in tl1e city or upgrade the entire machinery at the existing site. The data belo\v sl1ow the figures forecast 
for each option. 

Option one: Opening a new outlet 

Cost of investment US$80,000 

Probability of revenue being US$120,000 0.7 

Probability of revenue being US$40,000 0.3 

Option two: Upgrading entire machinery at existing site 

Cost of investment US$60,000 

Probability of revenue being US$90,000 0.8 

Probability of revenue being US$60,000 02 

a Calculate the expected value and net gain of both options. (4 marks] 

b Based on the data, outline \vhich gro\vtl1 option Ed Jaen should choose. (2 marks] 

.. " .. '" '.' '' ,., "'.'"" ' .... ' .' .. '" ' .'"" ..... ' .' .. ' .. ,. '"" ' .... ' .' ....... ' .. " ' .' .. ' .' .... ' .. ' .. " .. ' .. '.' .... ' .. ' . "" ' .' ..... ' ' ..... "" .. ' .. ' .. ' ' .... '"" .. ' ....... ' ' ' .. '"" .. '" ..... ' .' '' ... " .. '"" ' .. ' .' .' ... " .. '"" ' .... ' .' .. '" ' .'"" ... .. ' .' .... 

c Explain two advantages of using decision trees. (4 marks] 

......... ..... ... .......... .......... .......... ............. ....... ......... .... ....... ......... ........... ....... .. .................. ................... , ............................................ .................... ....... , .......... ......... , .......... ......... . ~ 

d Explain two disadvantages of using decision trees. (4 marks] 

......... ..... ................................ . ~ ............ .. ~ .... ............. .. ~ .............. ......... ...... .......... .......... ................ .................... ..................... .................... ......... ................. .................... . ~ ......... . 
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3 The 1nanageme11t at Virgi11ie Srienz Roigt Consulti11g (VSRC) is considering whether to introduce a new 
advertising ca1npaif,'ll ( ,vl1ich would cost US$80m) or spe11d more 1noney on an existing can1paign 
( whicl1 would cost US$301n) in an atte1npt to increase sales reve11ue. The probability of each option 
is shown below. 

There is an esti1nated 60% chance of success if the ne,v campaign is chosen, tvhich is expected to 
gain VSRC US$130m in sales revenue. 

There is a 40% chance of fa ilure for the new advertising can1paign, with expected sales revenues of only 
US$751n. 
If VSRC sticks with the existing catnpaign, there is an 80% chance of success of ear11ing US$801n. 

If the project fails, for ,vhich there is a 20<¾1 chance, the likely outco1ne is revenue of just US$35m. 

a Use the infor1nation above to construct a decision tree for VSRC. [6 marks) 

PHOTOCOPYING PROHIBITED 



6 Decision trees 21 

b Comment on the fin.dings shown in the decision tree for VSRC. 

4 Ttlak KC Co. is considering expanding into one of three locations. The expected costs and revenues 
are shown in the table belovv. The co1npany has the resources to pursue only one of these options. 

Location choice I Probability(%) I Cost (US$m) I Revenue (USSm) 

Ahmedabad 95 

High sales 60 220 

Low sales 40 85 

Bengaluru 85 

High sales 50 200 

Low sates 50 75 

Chennai 100 

High sales 65 190 

Low sales 35 90 

PHOTOCOPYING PROHIBITED 
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a Construct a decisior1 tree diagram for Tilak KC Co., sho"ving "vhicb. project is best on finai1cial 
grounds. Show all your worki11g and i11clude an appropriate key in your diagram. 

b Comrnenc on the find ings sho\vn in the decision tree for Tilak KC Co. 

(6 marks] 

(2 marks] 

.............. ..... ........... ................ . ~ ............ .. ~ .... ............. .. ~ ....................... .......................... ................ .................... ................ .... ................ ..... .......... ..... ........... .................... ........... . 
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5 Marcia Holtz Bikes (MHB) produces bicycles in a large factory. Goven11nent data suggest tl1at tl1ere is a 45% 
chance of tl1e economy itnproving duril1g the next three years, -..vith a 35% chance of it remaming uncl1anged 
and only a 20% cha11ce of it worsening. 1-lence, MHB is consi.dering three gro,vth options: 

• Option one: launch a new line of foldable bikes, costing an estimated US$2.5m. 

• Option t,vo: build a nevi factory to increase productive capacity, costing an estitnated US$4.5111. 

• Option three: diversify by building skateboards to add to its current product portfolio, costing an estimated 
US$1.5m. 

The estimated sales revenue of these options is sho~1n belo-..v. 

I 
Option one Option two Option three 

State of economy (USSm) (US$m) (USSm) 

Improves 5 8 3 

Unchanged 3 5 2 

Worsens 2 3 - 1 

a Construct a decision tree diagram for MHB and calculate the predicted outcon1e for 
each option. 

PHOTOCOPYING PROHIBITED 
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b With reference to the decision tree, co1nme11t on which gro1,vch optio11 MHB should pursue. [2 marks] 

6 In line with the firm's 1nission state1nent, Gozde Torun Florists is considering two gro\vth options: 

• Option one: ope11 a second store in a nearby location. 

• Option two: refurbish its existi11g score, ,.vhich has 110c happened since the o,vner opened for business over 
five years ago. 

There is also the option to do nothing if these gro1,vth options both prove to be too risky. 

Parts of the decision tree for Gozde Torun Florists are show11 belo1,v. 

Success 

Option 1 
($220,000) 

B 

$400,000 (0.6) 

Failure 
$200,000 (0.4) 

Success 

A 
Option 2 

($11 0,000) 
C 

$280,000 (0. 75) 

Failure 
$130,000 (0.25) 

Option 3 (do nothing) --~----~--------- so 
($0) 

a Co1nplete tl1e decision tree above to detennine ~1hich project Gozde Torun Florists should pursue (show all 
your 1,vorking out). [4 marks] 

Working out: 

. ... . ... ... ..... . ... . . ... ... ... ......... . . ... . ..... ....... .. . . . .. . . . ... ....... .. . . . .. . ..... ...... . .. . . . . ... . ... ....... <. • •• • • •• • • • ••• - ~ .... . . ... . .... . .. . . . .... . . ... . ..... . ... . ..... . . ... . . ... . ... . ..... . ..... . ... . ... . . .... . .... . . ... . .... ...... ......... . . ... . ..... ...... . 

PHOTOCOPYING PROHIBITED 



6 Decision trees 31 

b Explain two reasons in favour of Gozde Torun Florists ope11ing a seco11d score in a nearby location (option 
011e). (4 marks] 

c Explain two reasons in favour of Gozde Torun Florists refurbishing its current store (option t\vo). (4 marks] 

PHOTOCOPYING PROHIBITED 
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7 Kiru1y Baloo Corp. is co11sidering alternative 1nethods of promotion for its latest product line of garden 
furniture: 

• Option one: above the line (ATL) promotion. 

• Option t\vo: belo\v tl1e line (BTL) protnotion. 

• Option three: ilirough the line (TTL) promotion. 

Cost (S) 

Option one: ATL 150,000 

Option two: BTL 50,000 

Option three: TTL 100,000 

Probability of 
success 

0.7 

0.5 

0.6 

a Define the term through the line (TTL) promotion. 

Estimated revenue (S) 

Success Failure 

500,000 150,000 

400,000 100,000 

450,000 125,000 

[2 marks) 

.......................... ......... .................... ········~··· .............................. ······~··········· ....................................... ..................... .............................. .................... .................... ········~··········· ... . 

b Co11struct a decision tree diagram for Kinny Baloo Corp. and calculate the predicted outcon1e for each 
option. [6 marks) 
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Descriptive statistics 
1 Tl-1e following bar chart shows the volume of output (units) for a n1anufacturer during tl1e last six 

n1onrhs of this year. 

Manufacturing output (units), July-December 

2,000 

1,000 

July August September October November December 

Month 

a Defi11e che te11n mean (arithmetic mean). 

b State the modal average output level per month for the 1nanufacturer over the period sho\vn. 

(2 marks] 

(1 mark) 

....... , ................... ' ................... ' ...... ..... ........ ' ....................................................................... ... ' ................ ... ' ............... .... ' ........... .. , ..... , ............. ' .... ,, ..... ........ ' .... .. ..... ........ ' .... ..... . 

c Calculate the mean average level of output per 111011th for the n1anufacturer over the 
period shown. (2 marks] 

., ... ., .. ' .," ,., .............. ' ....... ' .... " .. , .......... , .... " . .," .......... ' .. " ' .," ... " ..... ' .. " ............. "' .. " .............. , ... " .. ,. ' ..... ., ' ......... , .... ' .. ., ,. , ....... , ...... '" ,. , "'" ........................................................... .. 

d Calculate the median average level of output per month for the mmufacturer over the period 
sho\vn. 

PHOTOCOPYING PROHIBITED 
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2 The table belovv sho"vs the survey respo11ses from 100 customers about the 1naxi1num price they 
would be vvilling to pay for a particular item. 

Maximum price (USS) I Frequency (number of customers) 

5.00 10 

4.50 15 

4.00 20 

3.50 25 

3.00 30 

a Use the data above to construct an appropriate bar cl1art. 

b Describe the purpose of using a bar chart. 

c Use the data above to calculate the tnean average price that consumers would be willing to pay 
for the product. 

(4 marks) 

(2 marks) 

(3 marks] 

···~··· .. ···•·············· ... · ............ ~ ....................... .................... ..... ........ ......... .................... ....... .............................. ~ ...................................................................................... ............. . 
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d Outline one advantage ai1d one disadva11tage of using bar charts. (2 marks) 

3 a Desc1ibe what is n1eant by a pie chart. (2 marks) 

• • • •• • • , ••••• , • •••• • • • • • ••• ' •• • • •• • •••• • • • • • ••• ' •• • t • •••••• • • • • • ••• ' • •• • • •• • ., .... ...... . ....... ..... . ...... . ...... . ..... . .... . . . . . .... . ..... . ' ••• • • • • • •••••• • • •• • ' ••• • • • • • •••• • •• • • • • t • •• • • • • • • •• • • •• • • •• , • •• • • • • • • • •• • , ••• • •• • •••• • • • • • ••• ' •• • • • •••••• • • • • • ••• ' • ••• • ••••• 

b The data belo"v show the 1nonthly units of sales for a retailer of children's toys. Construct a 
suitable pie chart to represent the data. 

Product 
I Sales of toys per 

month (units) 

Toy 1 800 

Toy 2 400 

Toy 3 200 

Toy4 100 

Toy 5 500 

PHOTOCOPYING PROHIBITED 
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4 

C 

a 

b 

Business Management Toolkit Workbook for the /8 Diploma 

Outline two limitations for managers and decision makers of the information show11 in tl1e 
pie chart you constructed for tl1e previous question. 

Define the cenn infographic. 

Suggest ,vhy a large multinational business might be interested in tl1is particular infographic. 

(4 marks] 

(2 marks) 

(2 marks) 

.... ........ ,, .. , ....... ... ,. ··· ·· .. , .......... ................... ........ " ........... ....... " ........... ....... , , .................. ................................ ....... , .... ........ ....... ... " ... ,, .......... ... ,. ··· ·· .. , .......... ................. .. ........... . 

.. " .......... ..... ... " ... ' ........... ... " ... ' ........ ' .. ... " ... ' .......................... " .............................. " .................. " ..... ............. " ..... ............. " ... " ............... ........ ' ........... ........ ' ........... ........ ' ........ .. 

C Outline one benefit and one lin1itation of using infographics to represent inforn1atio11. (4 marks) 

e , ....... • • • •• • • • .. • • • .... • .. • • • ••• • • .. • • • .... • .. •• • • • .. • •• • • • .... • .... • • • .. ••••• • .... • • • •• • • • .. • • •• • • .................... ................................. ,. . .......... . ...... ,. . . . ........ . ...... ,. • • • •• • • • .. • • • .... • .. • • • ••• • • .. • • • .... • .. • • • ••• .... • • • ....... ... .. ... , 

.... ... " ....... , ....................................................... ~ ................................. ..... ............... ................................................ ............ " ........ " ..... ... " ................. , ........................................ . 

........................................................................................................................................................................................................................................................................... 
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COVID-19: which countries are on track to have vaccinated 40% of the population w ith at least one dose by the end of 2021? 

Projections are based on each country's last reported vaccination coverage, and the number of people vaccinated for the first time in the last 14 days. 

Key 

D Already above 40% vaccinated 
llf.l On track to 40%, vaccinated 

fi/Jl Not on track to 40% vaccinated 
D No data 

s::.;;y;: -

\ 

[7 

w ..... 
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5 a Outline the purpose of using quartiles. [2 marks) 

.... ..... ··· ·· .. , ....... .. . , ........ , ....... ............. ....... .......... " ........ .. ............. ····· .. ........ " .......... .................... ·········· .......... ·········· .......... ....... , .... ··· ·· .. , ....... .. . , ........ , ....... ... , ........ , ....... ............. . 

b Explain the meaning of the interquartile range. [2 marks) 

c Describe what is meant by the standard deviation in a data set. [2 marks) 

d The data belo"v show the sales of five different products at a retail store. Use the data to calculate 
tl1e standard deviation. [4 marks] 

Product I Sales (US$k) 

A 25 

B 30 

C 15 

D 30 

E 50 

.. " ... , ..... , ..... ... " ... , ........... ... " ... , ........ ' .. ... " ... ' ............... , .......................................... " .............. ' ... ., ..... ' ........ ' ... " .............. ' .... , ................... , ............ ' ....... ............ ' .......... , .... ' ... , ..... . 

. . .. .. . .. ... .. '., ....... " .......... ' ...... , " ............. ' .... " ........ " ... ' .... " ........ " ....... '" ........ " ........ " ........ .......... " ....... ' .......... " ....... ' .... ...... " ....... , .. " ... " '., ....... " ...... .... , ...... , " .......... ' .. ' .... " .' ......... . 
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6 The data belo,v represent the five most popular Group 3 subjects in the 1B Diploma Programme, as ,neasured 
by candidate numbers for the May examination session over a five-year period. 

G3 subject I M21 I M20 I M19 I M18 I M17 

Business management 25,692 24,196 21,687 20,277 18,636 

Economics 25,955 25,831 25,569 25,147 24,235 

Geography 8,937 9,245 9,365 8,892 8,443 

History 47,810 50, 133 51,382 52,055 50,919 

Psychology 23,166 22,739 21,468 21,757 20,382 

Total 131,560 132,144 129,471 128, 128 122,615 

Source: adapted from 1B Statistical Bulletin 

a Identi~1 the ,nedian nun1ber of candidates who studied geography. [1 mark] 

b Calculate the 1nea11 nun1ber of candidates for (i) business 1nanagen1ent, and (ii) economics. [3 marks] 

....... " ... " .......... , ... , .. ' .. , ... ,." .. " ..... '" .. , ....... " ..... ............. " ........ " ........ " .................. " .............. , .. '"" ' " ..... " ..... '" .. " ...... " ........ " ............. " .................. " .......... " ..... '" .. , .. " ... " .......... .. 

c Construct a suitable pie chart to sl1ov,1 the data for May 2021. [3 marks] 
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7 The pie chart below shov,rs the percentage of drinks purcl1ased by 3,000 custo1ners at a local coffee shop during 
the past week. 

Percentage of drinks purchased 

15% 20% 

25% 

40% 

Key 

D Tea D Arnericano D Cappuccino D Latte 

a Calculate the nun1ber of custo1ners \\1110 purchased a cappuccino last week. (2 marks] 

• • ••••• , ••••• , • •••• • • ••• ••• , ••••••••••••••••••• ' •• • t •• • •••• • • ••• ••• ' • ••••••• ., .... ...... . ............ . ...... . ...... , .......................... ' ...... . . .... . ..... . ' •••••• • • •••• • ••••••••••••• • •••• • • • ••••••••• ••• • ••• ••• , ••••••••••••••••••• , ••••••••••••••••••• ' • •• t •• • ••• 

.... ..... ... .. .. , ..... ..... ....... .. , ............... .... , ................... ., ........ .......... ........... ....... .. ..................................... , ................... , ........ , .......... , .... ....... , .......... .. ..... .. , ................... , ................... . . 

b Calculate the number of customers \\1ho did not purchase cappuccino last week. [2 marks] 

.......... ..... .... ........................... . ~ .............. ~ .... ............. .. ~ ........ ............... .......................... ................ .................... ............... ..... ..... ............... .......... ..................................... ........... . 

c The average price of an A1nerica110 is US$3.75. Calculate the sales revenue from the sale of A1nericanos 
last week. [2 marks] 

d Explain \vhy it is not possible to detennine the 111ost profitable dri.J.1k from the pie chart. (4 marks] 
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Circular business models 

1 a Explain hov; traditional business models dLffer frotn circular business 1nodels. [4 marks] 

..................................................................... " .................. " ..... "' ............... " ... " ................................... " .................. " .................. " ... " ............................................................... . 

b Describe v.1hat is meant by a disposable society. [2 marks) 

.. " ... , .............. " ... , .............. " ... , ........ ' .. ........ ' .......................................................................... ' .......... ' ........ ' ... " .............. ' ... " ... " ............. " ... " ... , .............. " ... , ...... ..... ........ ' ......... . 

C Explain two advantages for a business that adopts a circular business model. [4 marks] 

............... ............................... . ~ .............. ~ ... .............. .. ~ ... ........... ......... .................... ...... ................ .................... ............... ...... ......... ..... ............... ...... ............... ................ ........... . 

2 a Outline the purpose of businesses movi11g away from a traditional a11d disposable society to a circular 
business 1nodel approach. [2 marks) 

b Defi.11e tl1e ter1n circular supply model. [2 marks) 
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3 a Defu1e the term ,·esource recovery model. (2 marks) 

b Explain two benefits of using a resource recovery circular business model. (4 marks] 

c Define the tenn product life extension model. (2 marks) 

.............. ................................ . ~ ............ .. ~ .... ............. .. ~ ....................... .......................... ................ .................... ................ ..... ............... ..... .......... ................ .................... ........... . 

d Explain two benefits of using a product life extension model. (4 marks) 

• • ••••• .. • •••• •••••• •• ••••• .. •• •• ••••••• •• •~ .. • .. ••• •••• •••• •• .. ... .... . . ... •••• •• .. .. • •• ••• •• .. •• •• ••• • .. .. • •••• • .. •• • .. •• • .. .. • •• o •., .. • •• .. • .. •• • •• ••••• .. • .... • .. ~•• •• ••••• '-• ••••• ••"• •• ••'•""'' '' ' '''' ' ' ' ' '"' " ' ' ' • ••••••• •• ••••• " •• •• ••••••• •• " "'""' • '"'• 
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4 a In the context of circular business 1nodels, define the term sharing niodels. (2 marks) 

b Explain one benefit of a sharing ,nodel such as the use of Airbnb, where the company does not O\Vn any of 
its own hotels or resorts. (2 marks) 

5 a Define tl1e ter1n product service system model. (2 marks] 

b Explain two li1nitations of adopting a circular business 1nodel. (4 marks] 

.. " ........ " .. , .. ... " ... ' ....•... ' .. ... " ... ' ........ ' .. ... " ... ' ... , ........... , .. , ................ , .. , ......... ,. , ....... " .................. ., ...................................... " ..... , .. " ........................... ' .. ... " ... ' ....•... ' .. ... " ... ' ... ' .... , . 

......... ··· ·· .. , ....... .. . , ........ , ....... .................... .......... " ........ .. ........ " ... ····· .. ........ " ........ .. .................... ....... , .......... .. ..... .. , ... , ........ ..... .. , .... ··· ····· ····· ·· ............ , ..... .. ..... , .............. .. .......... .. 
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Gantt charts (HL only) 
1 a Define the tenn Gantt chart. (2 marks] 

b State two tl1ings that can be ide11tified in a Gai1tt chart. (2 marks) 

C Expla in two advantages of using Gan tt charts. (4 marks) 

2 a State two features of a Gantt chart. (2 marks) 

. . ... . . ... . . .. · ····· ·· ··" . .. . .... · ····· ·· ··" . .... ... · · · ··· ··" ..... .. . . ....... . . .. ... . . . .. . ..... . • · •• • .. ... . ... ..... . ... . ..... . . , o ," . . . ....... ~ . ... ..... ..... ........ .. ..... ... . . ........ .. .......... ... ..... .. ........ . . . . · ····· ·· ··" . .. ..... · ····· ·· " ... ..... . . " •• 

b Explain two li1nitations of using Gantt charts. (4 marks) 

................ , ..... .............. , ..... ....... ,., .... , ....... ... .... ............. .. , ..... ........ ... , .. .................... ....... , .. .,,., .......... .. , ............ ..... .. , ............ ..... .. , ......... ,., ..... .............. , ..... ....... ,., .... , ..... .. ... .. , .... " .. 

......... , .. .. , ................................................................................................................................................................ , ................................................................... ....................... . 
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3 Elvy Yerton Corlstruction Co. has been appointed to fully re11ovate the l1ouse of a client. 

Activity I Order I Duration (weeks) 

A - 2 

B A 4 

C A 3 

D B 2 

E C 1 

F D and E 2 

a Construct a Gantt chart for the project from the data above. [4 marks] 

b Identify tl1e shortest time that the project can be completed in. [1 mark] 

PHOTOCOPYING PROHIBITED 



46 Business Management Toolkit Workbook for the /8 Diploma 

4 Grebern1an Education publisl1es educational textbooks for university students. The typical publication goes 
tl1rougl1 the process below. 

Activity I Order I Duration (months) 

A - 1 

B - 2 

C A 3 

D B 4 

E C and D 1 

F E 2 

G E 2 

H G 1 

I F and H 2 

a Using the data in tl1e table above, draw a Gantt chart for a typical publicatio11 project of th.e business. (4 marks] 
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b Explain \vhy it is ilnportant for Grebern1a11 Education to regularly 1nonitor and, if necessary, to 
update the Gantt chart. 

5 The table belo~, shov,s che various activities, preceding activities and durations for a project. 

Activity I Duration (days) I Preceding activities 

A 2 -

B 4 -
C 3 A 

D 2 A 

E 4 B 

F 2 C,D 

G 2 E, F 

H 3 E, F 

I 1 G,H 
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a Use the data in the table above to consauct a Gantt chart for the project. [4 marks) 

b Co1nment on the shortest cornpletion ti1ne for the entire project if a Gantt chart is used. [2 marks] 

............................. ............. .. ..... ..... ········~·········~· .. ······~··········· .. ······~··········· ................................... ..... ............... ..... .......... ................................... ............ .. ..... ............... ............. . 
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Porter's generic strategies 
{HL only) 

1 Michael Porter's generic strategies enable entrepreneurs a11d decision makers to consider various ways to gain 
co1npetitive adva11tages. 

a Define Porter's generic strategies. (2 marks] 

............... .. ......... .................... .......... , .. ....... .......... ........... ......... ........... ....... .................... ................... , ................... .......... ..................... ............................... .......... , ......... .......... . ~ 

b Describe the 111eaning of competitive advantage. (2 marks] 

2 a Describe Porter's cost leadership strategy. [2 marks) 

b Explain two different 1nethods a business might use to achieve a cost leadersl1ip strategy. [4 marks] 
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c Porter referred to two different types of cost leadersl1ip strategy. Distinguisl1 between cost leadership 
with proximity and cost leadership with parity. (4 marks] 

3 a Define Porter's differentiatiort strategy. 

b State two ways that a large supertnarket chain might differentiate itself from competitors in 
the industry. 

(2 marks) 

(2 marks) 

.... , ....... .. ............. ' ................... ' .............................................. " .............................. " ............................ ·~· ....... " .................. " .................. " ........ ' ................... ' ... -~· ............. ' ......... . 

c Tesla is a11 A1nericai1 electric vehicle producer. Tl1e con1pa11y claitns its cars l1ave the quickest 
acceleratio11 of any electric vehicle i11 production. Explain tvvo possible advantages of a 
differentiation strategy used by Tesla. (4 marks) 

e," "'" ' •' •' • •'" • • •"" '" "' •' • •'" • • •"" •" "' •',.'" • •'"" '.,., ,., ",., • •'"" ' •' •• ,., "•• • ,.'"",.' •• •••" •••., • •"" • • • " '" • ' "" •"" • • •" '"" '" "•"" • • •" '"" ' •',.'"", , ," •••" ' , ' •' •• •" • • •"" '" '•' •' • •'" • • •"" •" "' •' • •'" • • •"" •" " ' """ 

.............. .......... , .......................... , " ............ , .... ,~, ............................. , ....................................... , .. " ... , .... " ........ " ........ " ........ " ............. " .................. " .......... " ................. , ......... , .. .. 

4 a Describe what is meant by a focus strategy. (2 marks) 
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b Explain how a local car repair business n1igl1t use a focus strategy to attract custoiners. [4 marks) 

.... ..... ····· .. , .......... , ........ , ....... .. .................. .......... " ........ .. ........ " ... ····· .. ........ " ........ .. .................... ·········· ........ .. ·········· ........ .. ....... , .... ····· .. , ....... .. . , ........ , ....... ... , .... .... , ....... ............. . 

5 a In the context of business strategy, explain what Porter meant by being "stuck in the middle". [2 marks] 

b Explain \vhy being "stuck in the 1niddle" carries risks. [2 marks) 

......... ..... ... .......... .. ....... , .......... ......... , .......... ......... ........... ......... ........... ......... ... ............... .. ................. , ........................ .................... ........ .......... , ...... ............. .................... .......... . 

6 Identify tl1e relevant generic strategy in each of the cases belo\.v. 

a Ambani Superstore provides customers v,ith lower prices because of its ability to exploit 
economies of scale and implement highly efficient methods of distribution. 

b Katia Je\.velry Company produces inexpensive je\.velry, gifts and other accessories targeted 
at teenagers . 

[1 mark] 

[1 mark) 

• • • • • • • .. • • • • • .. • • • • • • • • • • • • • • • • • • .. • • • • • • • • • • • • • • • • + • • •••• • • • • • •••••••• + . ...... . . .... . . . .. ·~ ......... ....... . . .. . . .. + . .. . . . .... . . ...... .. . .... . .. . . . .... .. . .. . .... . .. . . . . . . . .. . .. . ..... .. . . . . . . .. . . .. . . . .. . ... . . . . . . .. . . .... .. . ... . . ... . .. -~ ............ . . . . ........ ..... . 

c KIN Cos1netics sells handtnade bath and beauty products that are sustainably sourced and 
11ot tested on animals. 

d SinoEuro Tours specializes in providing exclusive access to live football matches for clients 
based in China who are fanatics of European. football leagues. 
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1 

2 

a 

b 

Hofstede's cultural 
dimensions {HL only) 

Define Hofstede's cultural dimensions. 

Explain tl1e value to manage1nent of understanding Hofstede's cultural ditnensions as a situational 
business 1nanage1nent tool. 

(2 marks] 

(4 marks] 

........... , .... , .. .......... , ..•... ' .. ................. ' ......... ' .... , .... , ......... , .... ,. , .. ,. , ....... , .... ,., ......... ' .. , ...... , ......... ' .. " ............ , .. ' ................... ' ......... , .. " ... " ...................... ' .. .......... , ...... ' .. ................. ,. 

a Distinguish between individualis1n and collectivism as a culrural ditnension. (2 marks] 

• • • • •• • , •••••• • •• • • • • • • • ••• ' •••••• • •• • • • • • • • ••• ' •• • t • • • •••• • • • • • ••• ' • ••• • •• • ., .... ...... . ..... .. ..... . ...... . .. . ... . .......... . . . . . .... . .. t •• • ' ••• • • • • • • • •• • • • t •• • ' ••• • • • • • • • •• • •• • • •• ' ••• • • • • • • •• • • •• • ••• , • •• • • • • • • • ••• , •••••• • •• • • • • • • • ••• ' •••• • • • •• • • • • • • • ••• ' • ••• • ••••• 

b Distinguish between short-termism and long-termism as a cultural di1nension. (2 marks] 

....... , ...... ... ................. ... ............... ....... ..................................... ........................................... ................... .................... .... ............ .. , .......................... ... ................. ... ............... ..... . 

C Distinguish between masculinity and femininity as a cultural dimension. (2 marks] 

...... ' .. ····· ................. -~· ..... .................... ......................................................................................... .................... ........ -~· ................. " ... ,, ..... ............ -~-.......................................... .. 
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3 One of Hofscede's cultural di1nensio11s is po,ver distai1ce. 

a Explain the link between pov,1er distance as a cultural dimension and a firm's organizational structure. (4 marks] 

.............................................. ................ ~··········· .. ······~··········· .. ······~··········· ................................... ..... ............... ..... ......... ...... ................. ............ ................................................ . 

b Explain why differences in po\ver distance as a dimension of culture 1night cause culture clashes 
within an organization. (4 marks] 

............ .. .................. ·• .......... " ...... ·• .......... " ... ............... " .................. " .................. " .................. " ............................................................................................... ·• ....................... . 

4 One of Hofstede's cultural di1nensio11s is uncertainty avoidance. 

a Define the term unce1·taincy avoidance. 

b Suggest \vhy a difference in the degree of uncertainty avoidance within an organization can 
cause conflict. 

(2 marks] 

(2 marks] 

.................................. ········ ............ ········" ....................................................... ····· ....................................................................................................................... ········" ............. . 
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5 In 2014, a US$35b11 merger that should have resulted i11 the "vorld's largest advertising agency was abandoned 
due to culture clashes between US-based advertising giant Omrlicon1 and its French equivalent Publicis. 
Omnicon1's CEO stated, "Tl1ere are stro11g corporate cultures in both cotnpa11ies that delayed us reachi11g an 
agree1nent." 

a Define the cenn corporate culture. [2 marks) 

b Explain "vhy an understanding of cultural ditnensions tnay have prevented the tnerger benveen 
Omnicotn and Publicis from failing. [4 marks) 

. . ... ..... . . .. . ..... .. ....... ........... .. .... ....... ... . ... .. .. ... . . . . . . . " . ... .. .. ... . ... . . ..... . . .. . .... . ... . . . " . . . . ... ..... . . . o ," ....... ..... ... ..... ..... ..... ... .. .. , . . ..... ..... ... .. ... ..... .. ... . , ... .. ........... ....... .. ....... ........... .. ..... . . ... .. " •• 

c Explai11 two lin1itations of Hofstede's cultural ditnensions as a business managetnent tool. 

d Explain two consequences of culture clashes for business organizations, such as Omnicom 
and Publicis. 

(4 marks) 

[4 marks) 

...... ..... . ........ ...... .... . . .... . ... ........... . . . . . . ... . . ..... . . ... . ... . . .. . . . .... . . . ... ..... ... . . ..... . . ... ..... . ... . ..... . . ... . . ... . ... . ..... . ..... . . . . . . ...... ... .... . . ... . . .... ..... .... . . ... . . .... ..... ..... . .... . . ........ ...... .... . . . . . . . ... . . . ... . 1. • •• • • •• • • • 
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Force field analysis {HL only) 

1 a Define the tenn force field analysis. (2 marks] 

b Distinguish between driving forces and restrai11ing forces. (2 marks) 

2 a Explain two advantages of using force field analysis as a framework for decision-rnaking. (4 marks) 

b Explain two litnitations of using force field analysis as a framev.rork for decision-1naking. (4 marks) 

. . ... . . ... . . .. · ····· ·· ··" . .. . .... · ····· ·· ··" . .... ... · · · ··· ··" ..... .. . . ....... . . .. ... . . . .. . ..... . • · •• • .. ... . ... ..... . ... . ..... . . , o ," . . . ....... ~ . ... ..... ..... ........ .. ..... ... . . ........ .. .......... ... ..... .. ........ . . . . · ····· ·· ··" . .. ..... · ····· ·· " ... ..... . . " •• 
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3 A business is considering ,vhether to increase the productive capacity of its factory. Tl1e management team has 
identified tl1e follo,vi11g factors to consider in this decision, along \vith their weightings (1 = \,veak, 5 = strong) . 

• Costs of the upgrade will have a direct i1npact on the £inn's liquidity position ( 4). 

• Ne~, government regulations require more environn1entally frie11dly production techniques (2). 

• The maintenance costs for tl1e current machinery and equipment have been increasing (2). 

• There are likely to be staff redundancies, which \viii need to be handled \Vith care and sensitivity (3). 

• There l1as been a11 increase i11 custo1ners for the past four years ( 4). 

• There is a need to upgrade the current machinery in order to stay competitive (3). 

• Training costs to upskill workers to use the new factory machinery and equipment (3). 

a Construct a force field analysis of the driving a11d restraining forces associated 'Nith the goal of 
increasing the capacity of the factory. 

b Comment on the results of your force field analysis for the business. 

[4 marks] 

(2 marks] 

.. " ..... , ., ,, .. , ",,," ......... , .. ' .. , ,, " ......... , .. , .. ... " ......... , ............ , ,, .. , ., .. .. ........... .... , .. .. .... ... "•·• ..... ' ........ " .. , .. , .. ' ........ " ..... ,., .. ' ' ' ..... " ... " ..... , ., ,, ... " ... "" ... , ., ., .. , " ... " ..... ,., ., .. ' .. , ,, " ......... , .. .. 
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4 A business is considering \vhetl1er to co11vert fro1n a private li1nited company to a public liinited company. 

a State three important seeps in the construction of a force field analysis. (3 marks] 

.............. ................................ . ~ ............ .. ~ .... ............. .. ~ .............. ......... ...... .................... ................ ........... ......... ............... ...... ......... ..... ............... ................. .................... . ~ ......... . 

b Prepare a force field analysis for tl1e business. Include three driving forces and three restraining forces in your 
diagra1n. Also i11clude relevant weights for eacl1 force, \Vhere 1 = weak and 5 = stro11g. (4 marks) 
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5 Due to the prolonged COVID-19 pandemic, worki11g from hon1e has become the new normal for mai1y 
employees across the world. According to The Economist, America11s spent around 5% of their ,vorking ti1ne at 
l1ome before the pandemic. By spring 2020, the figure was around 60%. Despite people working longer hours, 
analysts have reported higher levels of employee happiness and labour productivity, as well as tl1e absence of 
costs a11d frustrations associated \.vith commuting to and fro1n work. 

However, not all employers are able to trust the work ethic of their remote en1ployees, nor are they 
always comfortable communicating with their employees \Vorking from h_o1ne. Due to these concerns, 
micro1nanage1nent has increased in many organizations, causing problems for both e1nployers and their staff. 
As national md regional lock.downs lift, coupled with COVID-19 vaccine rollouts, working frotn home is 
likely to stay, with both opportunities and potential li1n itations for businesses. 

Explau1 how a business ca11 apply the principles of Le\\1i11's force field analysis in implementing its plan of 
allowing 1nore e1nployees to work fron1 ho1ne. [4 marks] 

....... " ... " .......... , ... , .. ' .. , ... ,." .. " ..... '" .. , ....... " ..... ............. " ........ " ........ " .................. " .............. , .. '"" ' " ..... " ..... '" .. " ...... " ........ " ............. " .................. " .......... " ..... '" .. , .. " ... " .......... .. 
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Critical path analysis (HL only) 

1 a Define the tenn critical path analysis. (2 marks] 

b Explain two advantages of using critical patl1 a11alysis. (4 marks) 

.. " ... , .............. " ... , .............. " ... , ........ ' .. ..... ...................................................................... ........ ' ...... .... ' ........ ' ... " .............. ' ... " ... " ............. " ... " ... , .............. " ... , ...... .......... ... ' ......... . 

c Explain two li1nitations of using critical path analysis. (4 marks] 

............... ............... ................. ~ ............ .. ~ ... .............. .. ~ ... ........... ......... .................... ...... ................ .................... ..................... ......... ...... .................... ............... ........................... . 
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2 The follo,ving 11etwork diagram shows the duration of all the various activities for a particular project. 
The duration of eacl1 task is shown in number of weeks. 
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15 

a Define the tenn network diagram. [2 marks) 

•••••• • •••• • • • • ••••• • • •••• • •••• • • • • •••• • • • •••••••••••• • ••••••• .. •••••••••• • ••••••••• •••• • •••n ••••••••••••••• •••••• • •• • •• • •••••• • •• .. •• • •• • ••••••• .. • • • •••• • .. • ••• •••••• • • • •••• • • • • •••• • •••• • • • •• • ••••••••• • ••••• • • •••••~•••• • • • ••••• • • • •••• • ••• • " • •••• • • • "•••••••••• • ••• 

b Explain the critical path fro1n the network diagram above. [2 marks) 

c Calculate the float time for activity D of the project. [2 marks) 
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3 Use the netv,ork diagran1 below to ansv,er tl1e questions that follow. The duration of tl1e tasks is in nu1nber 
of days. 

A 
3 

D 
2 

3 
6 

2 

0 B 3 E 8 G 13 

1 3 s 6 

0 3 3 s 8 s 13 

C 
4 

F 
4 

4 
6 

2 

a Identify the critical paili for me project. (1 mark] 

b Calculate the free float tirnes for activity D and activity F. (3 marks] 
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4 Use the netv,ork diagran1 below to ansv,er tl1e questions that follow. The duration of tl1e tasks is in nu1nber 
of 1nontl1s. 

1 

A 

4 

B 

2 

2 

3 

E 
4 5 

2 

F 

6 

G 

2 

6 

7 

J 
8 9 

5 

a Complete tlle net\vork diagram by calculating the earliest start ti1nes (EST) and the latest finishing 
times (LIT) for each node. (4 marks] 

b Identify the critical path for the project. (1 mark] 

c Calculate tl1e total float titnes for activity D and activity I. 

d Suppose activity G is delayed by two montl1s. Comme11t on l1ow this might affect the overall 
con1pletion ti1ne of the project 

(3 marks] 

(2 marks] 

.. " ........ , ......... " ... ' ....•... ' .. ... " ... ' ........ ' ..... " ... ' ... , ........... , .. , ................ , .. , ................... " .................. ., .................. " ..... ....... , ..... " ........ " ........ " ... " ............ ' .. ... " ... ' ....•... ' .. ... " ... ' ... ' .... , . 

. . .. .. . , .... .... , .......... , ... " ' .. ' .................... ....... .......... " ........ .. ........ " ........ .. ........ " ........ .. .................... ..... .. ' ............ ..... .. , ............ ..... .. , ........... , ..... .... .......... , ............ , ...... ' .................... . 
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5 Use the netvvork diagram belovv to ai1swer the questions that follow. The duration of the tasks is in nuinber 
of vveeks. 

B E 
3 

4 
7 

3 

0 
A 

3 
C 

5 
F H 

12 

1 2 4 6 7 

0 
3 2 

6 
4 

10 
2 

12 

D 
6 

G 
5 

3 4 

a Calculate the EST for nodes 3 and 6. [2 marks] 

b Calculate the LIT for nodes 2 and 5. [2 marks] 

c Identify the critical path. [1 mark] 

d Calculate the total float times for activities C and D. [3 marks] 

e Calculate cl1e free float times for activities F and G. [3 marks] 

.. " .................. " ... ' ........... ... " ... ' ................... ' .......................... " ................................. ............. ' ...... .... ........ . ' ... " ..... ......... ' ... " ... " ............. " ... " ... ' ........... ... " ... ' ...... ..... ........ ' ......... . 
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6 Use the data u.1 tl1e 11et\vork diagram below to ansv.1er the following questions. 

A 
5 

H 
29 

N 
2 7 

5 
8 

8 
32 

8 

0 
8 

9 
G 

26 
K 36 M 

40 

1 4 5 8 9 

0 
9 4 

26 
10 

36 
4 

40 

C F 
25 

L 
3 6 

19 
19 

6 
30 

9 

a Calculate the total float of each activity. [5 marks) 

Activity LFT Duration EST Total float 

A 5 

B 9 

C 19 

D 1 

E 7 

F 6 

G 4 

H 8 

I 3 

J 6 

K 10 

L 9 

M 4 

N 8 

b Calculate the free float of each activity. [5 marks) 

Activity EST (at end) Duration EST (at start) Free float 

A 5 

B 9 

C 19 

D 1 

E 7 

F 6 

G 4 

H 8 

I 3 

J 6 

K 10 

L 9 

M 4 

N 8 
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7 The follo\ving questions relate to tl1e net\vork diagram below. 

A 
1 

4 
2 

B 

6 

C 

7 

D 
3 

8 

5 

E 
4 

10 

F 
6 

9 

a Complete the network diagram by calculating the earliest start times and latest finishing 
times for each node. The durations of each activity are in number of days. 

b Identify the shortest titne in which the project can be completed. 

c lden.tify the critical path and show this on the 11etwork diagram above. 

G 

5 

d Use the network diagram above to calculate tl1e free float and total float times in the table belov1. 

Activity Number of days 

Duration EST LFT Free float Total float 

A 4 

B 6 

C 7 

D 8 

E 10 

F 9 

G 5 
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7 

[4 marks) 

[1 mark) 

[2 marks) 

[S marks) 



Contribution (HL only) 
1 Don Pak can purcl1ase equipment for in-house production for US$250,000 and produce the needed 

co1nponent parts for US$10 each. Alternatively, cl1e company can use an exter11al supplier that \Vould 
produce and ship mese parts for US$15 each. 
a Define the tenn co11tribution. [2 marks] 

b Using 1nake or buy analysis, calculate the number of con,ponent part5 needed to reacl1 break-even. [2 marks] 

c Comment on your answer to question lb above. 

2 Rachel Proffitt Pu1nps (RPP) ca11 purcl1ase the 11ecessary capital equipment for in-house production for 
$20,000 and rnanufacture the pumps for $90 eacl1. Alternatively, a local supplier can make the pumps 
for $110 each. Tl1e sale forecast for RPP's product is 2,500 units. Tl1e firm faces a make or buy decision. 

a Define the cerm make or buy decision. 

[2 marks] 

[2 marks] 

.............. ................ ................ . ~ ............ .. ~ ... .............. .. ~ ... ........... ......... ...... .................... ................ .................... ................ .... ........... .... ..... ........... ................ .............. ...... . ~ ......... . 

b Calculate me cost to 1nake ( CTM) and the cost to buy ( CTB) for RPP. Com1nent on your findings. [4 marks] 

. . ............ ····· · ····" .......... , .. . .............. · ···· · ··" ............... . ............ . ...... ... . .... . .... . .... . . ••• • • .... . . . o .... . . ....... ..... .......... ..... .. . ................... . ................... . ...... •••••••• ..... . .............. · ···· · ··" ............. . 

PHOTOCOPYING PROHIBITED 



14 Contribution (HL only) 67 

c Explain two factors that a business, such as RPP, might need to consider in a make or buy a11alysis. [4 marks) 

3 The table below shows the fixed costs, variable costs and selling price of a sweet (candy) manufacturer. The 
producer is considering using a different supplier for its packaging for the wrapping of the sweets. This option 
would reduce its packaging costs by 50%. 

Cost and revenue I Value (USS) 

Fixed costs 15,000 

Packaging cost per unit 0.20 

Other variable costs per unit 0.60 

Selling price per unit 1.10 

a Distinguish between fixed costs and variable costs. [4 marks] 

b Using the data above, explai11 whetl1er the S\veet 1nanufacturer sl1ould S\,vitch to a different supplier for 
its packaging. [4 marks) 

.. " ........ " ..... ... " ... ' ....•... ' .. ... " ... ' .............. " ....... , ........... , .. , ................ , .. , ................... " .................. ., .................. " ..... ' ............ " ... " ... " ........ " ... " ... ' ........ ' .. ... " ... ' ....•... ' .. ... " ... ' ... ' .... ,. 

c Based on your ans\,ver to qt1estion 3b, outline whether the s\,veet manufacturer should or should not use a 
different supplier for its packaging. [2 marks] 

.............. ................ ................ . ~ ............ .. ~ .... ............. .. ~ ... ........... ......... ...... .................... ................ .................... ..................... ............... ..... ......... ...... ........... .................... . ~ ......... . 
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4 The table below sl1ows the reve11ue and direct costs for the four products (cost centres) of a business. All figures 
are in US$k. The firm's i11direct costs are US$140,000. 

I Product A I Product B I Product C I Product D I Total 

Sales revenue 120 150 80 95 

Direct costs 70 90 50 60 

Contribution per product 

Indirect costs 

Profit 

a Define the ter1n cost centre. [2 marks] 

. . ........ . . .. . ..... .. ....... ....... ' ... .. ......... ......... .. .. ... . . .. . . . ",o . .. .. ... . . . .. . ..... . . .. . .... . ... . . . " . . . ... . ..... . . . o ," ............ ... ....... ... ..... ... .. ........ .. ..... ... .. .. , .. ... . . ........ .. ........ . . . ....... .. ....... ........... .. .. ........ . . " •• 

b Complete tl1e table above in order to deter1nine the contribution per product and tl1e overall profit for 
tl1e business if it uses contribution costing. [4 marks] 

. . ... . . ... . . . , .• , ..... ....... .... ... , ..... ......... ..... , ... ....... . . .. . ........ . . .. .. , .. ... ...... . · · ·•• .. ... .... ..... . ... . ... ,.,., o , .... . ....... ..... .. , •. .,, ....... ..... .. , . ... . . ...... ..... .. , ..... . .... . , ..... ........ . . . ... , ..... ....... ,., •..• , ..... ..... .. ,., . .... . 
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5 The table belovv sho"vs the reve11ue and costs for the three profit centres of a business. All figures are i11 US$k. 

Profit centres Department A I Department B I Department C I Total 

Sales revenue 250 200 300 

Direct costs 137 .5 130 150 

Contribution 

Allocation of fixed costs 150 

Profit per department 

a Complete the table above to deten11ine tl1e profit of each department if the business uses absorption 
costing to allocate indirect costs equally between the profit centres. [4 marks] 

....... " ... " .......... , ... , .. ' .. , ... ,." .. " ..... ' " .. , ....... " ..... ............. " ........ " ........ " .................. " .............. , .. '"" ' " ..... " ..... '" .. " ...... " ........ " ............. " .................. " .......... " ..... '" .. , .. " ... " .......... .. 

b Suppose che busi11ess decides co allocate the indirect costs based on tl1e proportion of sales i·evenue from 
each profit centre. Complete the table belov,r to show the allocation of fi.-xed costs for each department and 
the profit for eacl1 profit centre. (4 marks] 

.. " ... , ......... .. ... " ... , .............. " ... , ........ ' .. ........ ' .......................................................................... ' ...... .... ' ..... ... ' ..... ..... ' ........ ' ..... ..... ... ........ .. .. .................... .................... ..... ... ' ......... . 

Profit centres Department A I Department B I Department C I Total 

Sales revenue 250 200 300 

Direct costs 137.5 130 150 

Contribution 

Proportion of sales 

Allocation of fixed costs 150 

Profit per department 
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c Witl1 reference co your answer co question 5b above, explain the benefit for the busi11ess of usi11g 
absorption costing as a business managen1ent tool. (4 marks] 

• • • •• • • , •• • • • , • •• • • • • • • • ••• ' •• • • •• • •• • • • • • • • ••• ' •• • t • •• • • •• • • • • • •• • ' • •• • • •• • ., .... ...... . ....... ..... . ...... . .. . ... . ..... . .... . . . . . .... . ..... . ' ••• • • • • • • • •••• • • •• • ' ••• • • • • • • • •• • •• • • • • t • •• • • • • • • •• • • •• • • •• , • •• • • • • • • • •• • , •• • • •• • •• • • • • • • • ••• ' •• • • • •••• • • • • • • • ••• ' • ••••••••• 

......... ..... ... .......... .......... .......... ............ ........ ......... .... ....... ......... ........... ....... .. .................. .. ................. , ............................................ .................... ....... , .......... ......... , .......... ......... . ~ 
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Simple linear regression 
{HL only) 

1 a Define the tenn linear regression. 

b Nike ar1d Adidas are fierce rivals in the sports apparel industry. It is therefore assu1ned that if one 
competitor raises its prices, there will be a subsequent increase in tl1e den1ru1d for the products of 

(2 marks] 

the rival fir1n. Sketcl1 a suitable diagram to show this correlation and explain your answer. (4 marks] 
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2 a Describe the n1eaning of a scatter diagram. [2 marks) 

.... ..... ····· .. , ....... .. . , ........ , ....... .. .................. .. ........ " ........ .. ........ " ... ····· .. ........ " ........ .. .................. .. ·········· ........ .. ·········· ........ .. ....... , .... ····· .. , ....... .. . , ........ , ....... ... , ........ , ....... .. ........... . 

b The data below depict a firm's advertising spending and the corresponding sales revenue. Use the data to 
plot a scatter diagram. [4 marks] 

Advertising spending (US$k) I Sales revenue (USSk) 

5 20 

10 22 

15 35 

20 45 

25 60 

30 80 

35 90 
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c Comment on the fi11dings fron1 your scatter diagram. (2 marks) 

3 The data belo,v sho\v the exa,n results of 10 IB World Schools and the average nu1nber of years their teaching 
staff have worked at the school. The figures have been rounded to the nearest \.vhole number. 

I Length of service I 18 exam results 
School (average number of years) (average score) 

1 7 35 

2 2 25 

3 3 28 

4 6 30 

5 6 28 

6 4 30 

7 10 37 

8 9 28 

9 12 38 

10 8 41 

a Use the data to construct a scatter diagra1n to sho"v the 11ature of tl1e relationship between an 
IB school's average Diploma Programme exam result and the average nun1ber of years teachers 
have worked at the school. 
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(4 marks) 
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b 

C 
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Use your scatter diagrarn to determine a line of best fit. 

Describe the meaning of a line of best fit. 
(1 mark] 

[2 marks] 

.............................................. ................ ~··········· .. ······~··········· .. ······~··········· ................................... ..... ............... ..... ......... ...... ................. ............................................................ . 

d With reference to the line of best fit, explain \vhy the correlation sl1own might be rnisleading. [4 marks] 

............ " ............................................. ····· ..... " .................. " ... " ............. .. ........ " ................................... " .................. " ....................... " .................. " ... ........................................ . 

................ , ....................................................... ~ ..................................................................................................... .................................................. ................... ............ .......... .. 

.. .. ... " .................... .................... ........ .. ........ .......................................... .......................... ' ............. " ...... ............ " ............................. , ............. ...................... .................... ..... .. .. 
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4 The data below are from a 1nobile ice cream vendor, showing the average sales of ice cream (in units) and the 
ten1perature in degrees Celsius. 

Daily temperature (°C) 8 1 1 14 17 20 23 26 

Average daily sales (units) 15 25 33 47 62 100 130 

a Use the data to construct a scatter diagram for tl1e mobile ice cream vendor. 

b Use your scatter diagra111 to detennine a line of best fit for the 1nobile ice cream vendor. 
c Use your line of best fit to estimate the sales of ice cream if the temperature reaches 25°C. 

PHOTOCOPYING PROHIBITED 

29 

170 

(4 marks] 

[1 mark] 

(1 mark] 
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5 a Defu1e the term extrapolation. (2 marks) 

b Sketch an appropriate diagram to show how an extrapolated trend can be determined from the trend 
line for actual sales of a retailer. (2 marks] 

c Explai11 one lin1itation of using extrapolation to predict a firm's sales revenue figures. (2 marks] 

.... ..... ... ,, .. , ....... ... ,. ····· .. , .......... ................... ........ " ........... ....... " ... ........ ....... , , ... ............... ................................ ....... , .... ........ ....... ... " ... ,, .......... ... ,. ····· .. , .......... ................. .. ........... . 

.. " .......... ..... ... " ... ' ........... ... " ... ' ........ ' .. ... " ... ' .......................... " .............................. " .................. " ..... ............. " ..... ............. " ... " ............. " ... " ... ' ........... ........ ' ...... ..... ........ ' ........ .. 
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